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� ��� 9OþDQ\ � NRVWRO � 6$ � 3UHPHQRYDQi 3$/� 9OþDQ\��2EÒ � � RG�
����������

� ���� .RPMDWLFH � 9LQRKUDGVNi � 1= � 3UHPHQRYDQi 3$/� .RPMDWLFH��þ�G��� � � RG�
����������

� ����� 9OþDQ\ � 5LJy � 6$ � 3UHPHQRYDQi 3$/� 9OþDQ\��-HGQRWD � � RG�
����������

� ����� 'OKi�
Q�9iKRP � SRåLDUQD�

]EURMQLFD � 6$ � 3UHPHQRYDQi 3$/� 'OKi�QDG�
9iKRP��UHãWDXUiFLD � � RG�

����������
� ����� =HPLDQVND�

2OþD � 'URSLH � .1 � 3UHPHQRYDQi 3$/� =HPLDQVND�
2OþD��-HGQRWD � � RG�

����������
� ����� 'ROQê�2KDM � YUãWHN � 1= � 3UHPHQRYDQi 3$/� 'ROQê�2KDM��KRUQê�

NRQLHF � � RG�
����������

� ����� 'ROQê�2KDM � IDUD � 1= � 3UHPHQRYDQi 3$/� 'ROQê�2KDM��=â � � RG�
����������

� ����� 'ROQê�2KDM � FHQWUXP � 1= � 3UHPHQRYDQi 3$/� 'ROQê�2KDM��-HGQRWD � � RG�
����������

� ����� 'ROQê�2KDM � .UDWLQD � 1= � 3UHPHQRYDQi 3$/� 'ROQê�2KDM��RVDGD � � RG�
����������

�� ����� $QGRYFH � FLQWRUtQ � 1= � 3UHPHQRYDQi 3$/� $QGRYFH��676 � � RG�
����������

�� ����� .RPMDWLFH � )XQGXãH � 1= � 3UHPHQRYDQi 3$/� .RPMDWLFH��RVDGD � � RG�
����������

�� ����� .RPMDWLFH � 7(6&2 � 1= � 3UHPHQRYDQi 3$/� .RPMDWLFH��=,33 � � RG�
����������

�� ����� .RPMDWLFH � 1LWULDQVND � 1= � 3UHPHQRYDQi 3$/� .RPMDWLFH��þ�G��� � � RG�
����������

�� ����� .RPMDWLFH � )XþtNRYD � 1= � 3UHPHQRYDQi 3$/� .RPMDWLFH��þ�G��� � � RG�
����������

�� ����� 1iQD � NXOW�GRP � 1= � 3UHPHQRYDQi 3$/� 1iQD��2EÒ � � RG�
����������

�� ����� 9OþDQ\ � RYRFQê�VDG � 6$ � 3UHPHQRYDQi 3$/� 9OþDQ\��$JURNRY � � RG�
����������

�� ����� 'YRU\�
Q�äLWDYRX � 0lVSRPD � 1= � 1RYi 3$/� � � � RG�

����������
�� ����� 'ROQê�2KDM � Ui]F� � 1= � 1RYi 3$/� � � � RG�

����������
�� ����� ,åD � .DSLWXOVNi � .1 � 1RYi 3$/� � � � RG�

����������


